HHD, Fall 2002

Social Science Assessment

Multiple choice: Choose the best answer

1. In Erikson’s model of development, Identity vs. Identity Confusion refers to:

a. A stage of development in early childhood marked by the person’s sense of developing his or her own identity

b. A period marked by intense anxiety because the adolescent has too many choices to make about who they are

c. Adolescent development of identity in which a youth’s sense of uniqueness comes to the fore

d. None of the above

e. All of the above

Explain your answer:

The correct answer is C. A identifies it as early childhood and that is incorrect. It is early adolescence. B is incorrect because that is simply conjecture on most of our author’s parts and isn’t based in Erikson’s theory. C is correct because it is the truest statement re: the theory.

2. Piaget proposed five stages of development. In terms of identity development in adolescence, most researchers believe that:

a. Formal operational cognitive development is necessary for abstract thinking

b. Abstract thinking is necessary for identity development

c. A youth must have moved past the concrete operational stage in order to enter adolescence

d. A & B

e. A & C

f.  All three are correct

Explain your answer:

D is the correct answer. Both A & B are part of Piaget’s conceptualization of this period of time. Formal operational thought is where abstract thinking occurs and abstract thinking is what allows adolescents to reconsider the stereotyped roles they’ve introjected to this point. C is incorrect because cognitive development has nothing to do with maturation into adolescence itself since that is defined as a biological process more so than a cognitive process. In other words, children begin puberty during the concrete operational stage.

3. Between the ages of 5-7 children develop an understanding of gender constancy-they realize that gender is permanent. This arises from a certain level of cognitive maturity and they begin to match their behavior to cultural expectations. In which Piagetian stage does this happen?

a. The preoperational stage because that is when children acquire gender labels and develop gender schemas

b. The formal operational stage because that is when abstract reasoning occurs and the development of constancy cannot be achieved without abstract thinking

c. The latency stage because this when children acquire cognitive skills and assimilate cultural values and gender roles

d. The concrete operational stage because that is when children develop all forms of constancy

e. Something is wrong with each of these responses, so I choose none of them

Explain your answer:

This happens in the concrete operational stage. The preoperational stage is when children acquire gender labels, but gender constancy comes after this. The formal operational stage is past gender constancy and is the beginning of abstract thinking. Gender constancy is a concrete, memory based process. Latency is the wrong theory, so the answer is D. Some people might complain about the phrase, all forms, but according to the theory this is when all forms of constancy do arise at the concrete level of thinking.

4. Speaking of Freud, his and Piaget and Erikson’s models all have developmental overlaps. Which of the following is the most accurate set of relationships?

a. Latency is to concrete operational as concrete operational is to industry vs. inferiority

b. Basic mistrust is to oral as oral is to early sensorimotor

c. Formal operational is to genital as genital is to identity vs. identity confusion

d. A & B

e. B & C

f. A, B & C

g. None of these

Explain your answer: The answer is F. All of these relationships are straight across each theory and correspond to the same periods of development.
5. Pipher says on pg. 18 of Reviving Ophelia, “Girls in what Freud called the latency period, roughly age six or seven through puberty, are anything but latent. I think of my daughter Sara during those years-performing chemistry experiments and magic tricks, playing her violin, starring in her own plays, rescuing wild animals and biking all over town.” What is the problem with her claim?

a. Nothing is wrong with her claim

b. Claim? What claim?

c. She is conceptualizing latency from a formal operational stage of thinking

d. She has the wrong age group for latency

e. Her concept of latency is too concrete

e. I’m tired of these trick questions.

Explain your answer: The correct answer is E. Her interpretation of latency based on this quote (which is a claim) fails to capture the fact that latency is about the psychosexual stages of development in the subconscious going dormant or resting. It is not about one’s activities in the world which means her interpretation is a concrete interpretation, not one dealing with the symbolic process Freud postulated. She doesn’t have the wrong age group for latency and the formal operational stage of thinking is later, in early and late adolescence. Latency corresponds to the concrete operational stage.
Enough of these tricky multiple choice questions, lets go to some applied questions. 

6. Piaget’s operational stage is characterized by conservation (remember Susan’s 1st lecture?) If this is true (and it is based on his theory of cognitive development) respond to the following:

At my last birthday party, I gave my five year old nephew a slice of cake but gave his ten year old brother two slices. The five year old started crying and complained that he wanted two pieces like his big brother. If I don’t want to give him another piece of cake but want him to stop crying and complaining in front of all my guests, how might I placate him? Provide a brief explanation. Hint: You’re likely to see this on a map of Colorado, my home state that is divided between the plains and the mountains.

The younger of the two has yet to develop conservation which corresponds in part to constancy. The younger child doesn’t have the concept of division so when you divide his piece in half, he thinks he now has two pieces rather than having one piece that is cut in half. What you see is what you get in other words. If I see two pieces now out of the one, I have two, not one cut in half. His older brother realizes the difference between having two pieces and dividing one in half. This is part of the developmental difference between the preoperational stage of development and the concrete stage of development. This question is a bit of a leap for our students because they have to manipulate the stage theory around gender constancy and generalize to the concept of conservation which Susan briefly mentioned in her lecture. It is a trick question, hence the hint.


7. Pipher claims that, “Mothers are either idealized like the Virgin Mary or bashed in fairy tales and modern American novels.” (p.102). What stage of Erikson’s model best explains her use of dichotomous thinking if she were sixteen when she wrote this statement? Why? Be sure to talk about what is absent in this cognitive style.

The answer is a bit of a blend in some ways. On the one hand, the language is at a metaphoric, symbolic level and this is represented by formal operational development. In addition, the language is engaged in ideology, something that adolescents experiment with in terms of development and this also requires abstract thinking. It has vestiges of the concrete operational stage because the dichotomy doesn’t allow for ambiguity-the possible gradations between the two poles of idealized and bashed. It is mostly formal operational.

8. The following statement can be posed as a hypothesis and could serve as a potential research project. 

“Because girls mature at a faster rate than boys, they come into gender identity questions at an earlier stage than boys and are faced with the dilemma of what to choose as an identity.” Rewrite this hypothesis using both Erikson’s and Piaget’s models of development. In other words, use their models to provide some operational definitions. For extra credit include Bem’s SRI!


The answers may vary but some of the following should be present in the hypothesis: if we are talking about gender identity questions, we should refer to Piaget’s concrete operational stage, gender constancy. A hypothesis might read something like this-“Girls will demonstrate a higher level of development as measured by their movement into Piaget’s concrete operational stage of cognitive development and their identification with a fixed gender identity and gender permanence when compared to boys of the same age.”

With regards to Erikson, they should talk about movement within stage four to stage five. They might say something like, “Girls, due to their earlier physical maturation than boys, will demonstrate higher levels of gender constancy (Piaget) and characteristics of Erikson’s identity vs. identity confusion as measured by the development of a more abstract understanding of gender.” (If we throw in the Bem SRI) One measure of gender identity development will be the Bem Sex Role Inventory for Children. Girls will demonstrate a greater range of non-stereotyped (higher androgyny) answers in response to questions measuring femininity than will boys who will have more stereotyped (less androgynous) responses. Of course, just because we can write a hypothesis using these doesn’t mean we have a good hypothesis!

Only four more questions to go!

9. Using Cross’s model of racial identity development, explain the following statements. The stages of the model are: Pre-encounter; Encounter; Immersion-emersion; Internalization

Boo-Boo: “It was kinda weird for me in Raymond. All of a sudden all my friends were black. It was weird, cuz they’re just, they’re more different than white people cuz of the fact the way they carry themselves, the way they dress and stuff, dress and talking, just being black. Like when I go down to see, y’know, say Chub and all them [in Clarendon Heights), they’re like, “Wow, Boo-Boo changed.” Then, y’know, I just, I dunno.”

Boo-Boo recounted how a friend had directed him to a store that was taking job applications: “So we walk up there, and she said, ‘We’re not hiring.’ And she said it in a bad way where it came down to me like she was prejudiced cuz I was black or something. Cuz why would she say that, why should she lie and say she wasn’t hiring?” 

Explanation:

Once again these may vary, but the answers should land Boo-Boo in the Encounter stage of development for both comments. He is no longer unconscious of the difference between whites and blacks and has an awareness that something is different about his experience with blacks than with whites. At the same time, he has yet to identify with blacks and to see himself as part of the group. He also doesn’t voice any anger toward whites at this point or a repudiation of whites. The second comment suggests some movement towards the Immersion-emersion stage, but he is still in the Encounter stage as his awareness is growing and he is beginning to repudiate and recognize white norms as destructive to his own esteem. 

10. Using Helm’s model of racial identity development, write a response to the following information that reflects what someone in that stage of development might say or think. 

“Did you know that there is a large racial gap in unemployment and earnings among high school graduates as well as dropouts. Nationwide, the unemployment rate for white sixteen to twenty-four-year-olds with a high school diploma in 1990 was 9 percent. For black high school graduates it was 26 percent. And get this! In the local labor market for men in 1989, white high school dropouts between the ages of twenty and twenty-four earned $9,294 per year. White graduates made between $14, 237. Black dropouts of the same age earned only $7,748 per year. And blacks with a high school diploma made a mere $8,856-less than white dropouts. For African American men, a high school education simply does not pay off as promised. What do you think?”

a. Contact: This answer needs to include some denial of race existing. Something like, “I don’t know why such a thing happens. People just shouldn’t look at race as it doesn’t matter.

b. Disintegration: This answer should contain some level of acknowledgement of the problem as the conscience has been pricked. At the same time, it is characterized by a blaming of the victims of racism. “Well, if that kind of discrepancy exists, it must have something to do with how they do their jobs. After all, we have a fair society. People just have to work harder. I’m sure they are underpaid because they don’t work as hard.

c. Reintegration: This one will be the hardest one to answer as it is a point of regression

with a greater understanding of the reality. It is marked with an understanding of white

superiority. “They’ve been going along for the ride for such a long time. They can’t do

a lick of work compared to whites even after all we’ve done to bring them along.”
d. Pseudo-Independence: In this phase, the white person down plays the superiority of

whites and begins to accept that they may be culpable at some level. But at the same

time it is important to continue in a hierarchical, paternalistic relationship. “That

doesn’t seem right or fair. We need to implement programs that rectify such a difference,

ones that provide them with training and opportunities so they can do as well as we do.”

e. Immersion-Emersion: This phase recognizes the wrongs of a racist society and places

the blame on the dominant culture, in this case whites. It involves an active exploration of

racism. “This type of inequity is founded in the slave culture and the unfair appropriation

black labor. It is a continuation of slavery in some sense. In my class the other day, I

talked with a number of students, both blacks and whites about race relations at this 

school. None of us can believe that they still show all those people of color in the catalog

but do you see them on this campus? Heck no! We’d better do something about this. 

f. Autonomy: This stage is marked by a secure self-concept of whiteness and involves

open confrontation. “In my Talking About Race support group, I couldn’t believe what

I was hearing from this one guy. He was so unaware of his internalized racism that, when

I pointed it out to him he just stared at me. I had to give him Racism 101 lessons. I 

remember sounding like him. I’m glad I’m not in that space any longer. By the way, I’ve

joined another group to explore my ethnic heritage as a member of the DAR-we’ve 

started a new branch that accepts women of all colors! I’m so happy!

11. What are some key factors to keep in mind if you wanted to develop a particular policy, for example, you wanted to make a change in the way children are placed in foster care?  Who would you be hearing from before any changes might be made?

12. a. If children are found to be very different from birth, that personalities were essentially formed when they were born, what effects might this have on child care policy? 

b. What if it was determined that children were essentially the same at birth and molded by their environments, what effects on child care policy might result from such a finding?
